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624 cc

0.3 cc/hr x 8 hrs/day x 260 days/year

11.6 cc

cc x 2 / carriage
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AJE/S 19 31.2 10 M4 51.3 76.3
A/E/S 67.3 92.9
21.2 428 10 M6
LA/LE/LS 83.2 108.8
A/E/S 76 101.6
28.5 46.8 10 M6
LA/LE/LS 95 120.6
AJE/S 91.4 117
32 57 10 M6
LA/LE/LS 113.6 139.2
AJE/S 104 131.2
36.5 68 10 M6
LA/LE/LS 129.4 156.6
A/E/S 130.5 167.7
49 83.6 15 1/8PT
LA/LE/LS 162.3 199.5
AJE/S 153.7 191.5
53 97 15 1/8PT
LA/LE/LS 191.7 2295
AJE/S 191.2 229
67 120 15 1/8PT
LA/LE/LS 2452 283
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TE/TS 35.2 60.2
MSB 155L 18.5 33 10 M4
E/S 52.2 77.2
TE/TS 42 68
212 40.8 10 M6
E/S 61 87
TE/TS 54.2 80.2
MSB 25SL 245 47 10 M6
E/S 76 102
TE/TS 62 88
30.8 57 10 M6
E/S 90.7 116.7
TE/TS 70.8 98
E/S 37 68.5 10 M6 104.8 132
LE/LS 1303 157.5
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E/S 915 117.5
MSR 25SL 30.2 47 10 M6
LE/LS 109.5 1355
E/S 106.4 132.4
345 586 10 M6
LE/LS 129.2 155.2
E/S 1193 1459
MSR 35SL 405 69 103 M6
LE/LS 1475 174.1
E/S 147.8 184.8
50.9 84 15.3 1/8PT
LE/LS 183 220
E/S 178.2 216
585 98 15.3 1/8PT
LE/LS 2282 266
LE/LS 765 122 15 1/8PT 2926 3304
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E/S 91.5 117.5
SMR 25SL 30.2 47 10 M6
LE/LS 109.5 135.5
E/S 106.4 1324
345 58.6 10 M6
LE/LS 129.2 155.2
E/S 119.3 145.9
SMR 35SL 40.5 69 10.3 M6
LE/LS 147.5 174.1
E/S 147.8 184.8
50.9 84 15.3 1/8PT
LE/LS 183 220
E/S 178.2 216
SMR 55SL 58.5 928 15.3 1/8PT
LE/LS 228.2 266
LE/LS 76.5 122 15 1/8PT 294.2 332
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E/S 59 84.4
SME 15SL 20.1 33.2 10 M4
LE/LS 74 99.4
E/S 72.5 98.5
22.8 414 10 M6
LE/LS 91.5 117.5
E/S 86 112
SME 25SL 26.1 47.2 10 M6
LE/LS 103 129
E/S 101.6 127.6
335 58.5 10 M6
LE/LS 126.6 152.6
E/S 113.8 140.6
SME 35SL 38.5 68 10 M6
LE/LS 143.8 170.6
E/S 132.8 170
49 83.6 15 1/8PT
LE/LS 167.3 204.5
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